CLASS - VII: CHAPTER - 1

INTEGERS

1. 2 subtracted from 7 gives

(a) -9 (b) 5 (c) -5 (d)9
2. 5 added to — 5 gives

(a) 10 (b) - 10 (c) 0 (d) - 25
3. 3 taken away from 0 gives

(a) 3 (b) -3 (c) O (d) not possible
4. Smallest integer is

(a) 0 (b) -1 (¢) we cannot write  (d) — 10000
5. Which of the following statement is true:

(a)2 subtracted from — 3 gives | (b) — 1 subtracted from — 5 gives 6

(¢)3 subtracted from — 8 gives — 11 (d)1 subtracted from — 7 gives - 6

6. Absolute valueof - 11 is

(a) 10 (b) -1 (c) 11 (d)-11

7. The number 3 less than — 2 is
(a) -1 (b) 1 (c)5 (d)-5

8. Which of the following numbers is to the right of -3 on number line ?
(a) -4 (b) -2 (€) -5 (d) -6

9. Which of the following number is not to the left of -10 on the number line ?
(a) -9 (b) ~-11 (c) -12 (d -13

10. The number of integers between -2 and 2 is-
(a) 5 (b) 4 () 3 (d 2



